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Question 1
Question Type: MultipleChoice

Which view of the Debug perspective in TIBCO BusinessStudio displays the incoming and outgoing messages of an activity?

Options: 
A- Job Data

B- Properties

C- BusinessWorks Jobs

D Variables

Answer: 
A

Question 2
Question Type: MultipleChoice



Each process in TIBCO BusinessWorks is a service.

Options: 
A- True

B- False

Answer: 
A

Question 3
Question Type: MultipleChoice

What are two methods for implementing activity level error handling in TIBCO ActiveMatrix BusinessWorks? (Choose two.)

Options: 



A- Error Transitions

B- onError Activity

C- Conditional Transitions

D- Fault Handlers

E- Event Handlers

Answer: 
A, D

Question 4
Question Type: MultipleChoice

Which two statements are true about a bw.engine.persistenceMode that is set to group? (Choose two.)

Options: 
A- The engine requires a group provider such as TIBCO Enterprise Message Service to be configured.

B- The group mode supports the Checkpoint activity and other persistence features.



C- The non-managed fault tolerance feature requires this property.

D- The engine does not require a database to be configured.

E- The database connection configuration must be specified only at the AppNode level.

Answer: 
A, B

Question 5
Question Type: MultipleChoice

TIBCO Enterprise Administrator cannot find a domain.

What is the problem?

Options: 
A- The TIBCO Enterprise Administrator cannot access the local file system.

B- The domain was created in enterprise mode



C- The TIBCO Enterprise Administrator cannot connect to the database.

D- The domain was created in local mode.

Answer: 
D

Question 6
Question Type: MultipleChoice

You want to test a sub-process in TIBCO BusinessStudio. Which view allows you accomplish this?

Options: 
A- Console

B- BusinessWorks Jobs

C- Process view

D- Process Launcher



Answer: 
C

Question 7
Question Type: MultipleChoice

Refer to the exhibit:





There are two fault handlers. One fault handler acts at the Scope Level, while the other fault handler is at the Process Level.

What happens if the File Read activity throws a FileNotFoundException?

Options: 
A- The job will error out since there are conflicting fault handlers.

B- The fault handler at the Process Level will be executed, and the Log1 activity will be executed.

C- The fault handler surrounding the Read File activity will be executed, and the Log activity will be executed.

D- Both fault handlers will be executed, and both Log and Log1 will be executed.

Answer: 
C

Question 8
Question Type: MultipleChoice

The application you have created with activation set to Single AppNode is deployed into an AppSpace consisting of two AppNodes (A1

and A2). It is running in managed fault tolerance mode. One of the administrators accidentally stops the application.



What is the expected behavior of your application?

Options: 
A- The application is stopped on A1, the application will be activated on A2, and processing of requests is automatically taken over by

the other AppNode

B- The application is stopped on A1, the application is stopped on A2, and no requests are processed.

C- The application is stopped on A1, the application is standby on A2, and no requests are processed.

D- The application is stopped on A1, the application will be activated on A2, but no requests are processed.

Answer: 
A
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